B TAaMHRKE  nnan
crpoesun nur, , A A *
Daagumep VR, 728 [t
w0 keapTRl  yuew

Iinan , "‘F’ “aTaws

S@
28
[ a
‘ 3
S & g
_S._’__ ‘t K5
L

—— o a.,
Hn BOIRSHCHNE WA e Peudup ,aibany «
fe 5L

"1'150 nIpens gue e nmmucuo

-
¢ "7"?"'3 l

M'- i

Nerl 77 Tlumml‘i'./ﬁ@.’{féf’;_

A
LB F X
e | &
i1 el 2 4 —
- 455 ‘% %7
A e o WPy
Tk
A £ fla g"g Vo4 e L"!J {
I
1 ) i
- - A
o5 Fv A day M
2Ty 7 - I = 249 84 275
i —r—_ . — e S e T y M l_l"]"l_r' 'LLI r
o -'.‘.‘l’ 1
TR sl B ey
P eros- -
i
M:f.ma}n&
r:2¢0 -.-‘Ww'




VL DkcniuKauus K mAaHy CTpoeHii

Io np.Jlennna aNe 53 nur. A
JlensncKui pakion
gg 5‘_% g‘% Tnowaas o sHyTpesHeMy o6Mepy, KB. METPOB
|2 2|EE|E8 \ !
g %_ % % gg g:z.g m“:{fuﬂz;ﬂf:};m‘ g B.QMU‘HHC;:p fa:aacg KBHL&M;. neq-cauwér. ‘l‘opmé !
| E|gE|g|eg| sunmnropwon | 8 | B | E | B (B e E|f]¢E E E
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A |nogs. 1 |moxcoGHoe 62,7 62,7 62,7
2 |aecTH.KAIETKA 7.9 7.9 7.9
2a |rapaepo® 67 5T 57
3 |kopuaop 1.2 1,2 1,2
3a |necrs.kieTka 9,7 8.7 9.7
4 |noncoGroe 4.5 4,5 4.5
4a |moacobHoe 12,4 124 12,4
5 |nopcobroe 26 26 26
6 [camysen 4.1 4.1 4.1
6a |noncobroe 6.7 6.7 6,7
7 |noncobroe 11,4 11,4
8 |moncobroe 10,8 10,8
9 |noncobroe 10,9 10,9
10 |cnymeGaoe 302 30,2 30,2
: 10a |noacoGHoe 16,3 16,3 16,3
106 |crymas 30,7 30,7 30,7
| : 11 |rennoysen 3286 32,6
12 |anexTpomiToBas 206 20,6
13 |NecTH.KIETKA 14,7 14,7
14 |kopumop 8.0 8.0
15 |noncobuoe 9.9 9.9 8.9
16 |BONOMEPHBIH y3en 6.1 51 51
17 |noacobBoe 56,2 56,2 56,2
17a |moacobroe 6.7 6,7 8.7
176 [nopcobroe 29 291 29
178 |nopcobroe 186 1,6 1,6
17r |nopcobroe 29 2.8 29
171 |moncobroe 4,8 4,8 48
| 18 |noacobroe 322 32,2 322
18a [moncobroe T 17,2 17,2 17.2
186 [noncobroe 10,2 10,2 10,2
19 |noncobuoe 36,7 36,7 36,7
19a |noacobroe 7.2 r2 7.2
20 |noacobnoe 65,7 65,7
21 |moacoGHoe 54,5 54,5 54,5
21a |Tambyp 3,5 3,5 35




